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50Mb0ogm 9OH™O:!
a. 40 3g;

b. 60 3g;

c. 100 3g;

d. 50 3g;
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50Mbogm 9OHmO:

a. Z = R:i + R, + jw(L: + L)
b. Z - R? - w22
c: Z = Ri + R; + jw(L: - L)

4.2 =vVR + X?

J0mbgs 3
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506BOJD 9HMO:
a. 45 gmsrbo
b. -90 ¢GsnLo;
C. 90 a6s50bo;
d. 0 a®5©vL0;


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cdot%7BZ%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cdot%7BZ%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cdot%7BZ%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cdot%7BZ%7D%3D%5Csqrt%7BR%5E2%2BX%5E2%7D
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50Mbogm 9OH™O:
a. Y=U/I

b. Y=I/U

c. Y=(G*+B?)2
d. Y=S/Uz?
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296LsbO3Mgm PV2 g3me@dg@deol Bggbgds, o PV1 = 50 g, PV3 = 80 g.

PV1 PV2

500B0gm 9EmO:
a. 50 g;

b. 80 g;

c. 30 g;

d. 130 3.
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506B0gm 9MHmo:

a. 3mw@E0, 593900,m30, 3530, 390900, BMSO.
b. gnm®o, ™o, 33960, 3530, 3909H0, BIOS®O;
C. 3m@0, 5939600, ™30, 3540, 39660, BsMO©O;
d. m3o, 3530, 39660, FM>©O, FMWEO, 5339M0;
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506B0gm gm0
a. Q=UISinp
b. Q=Uitgp
c. Q=UICosop
d. Q=UI
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50Mbogm 9OHmo:

di di di di
u=iry + Ly ——-M— +iry + L, —— M—
3 1 1 g dt 27 T2 dt
- di di | di di
U=iry + 1y - +Mdt i1y + Lq -~ +I'-.-’Iﬂ,r

b.
di

. di di di
N u_Lrl+le‘t+Mdr+”2+L2dc+Mdt

- . di di
d. Lzl?l + LJ_ E— M_

N di i
ar T2t L, dr Mdr
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506B0gm 9gMHmo:

a. gsHYOO 45035 GHMos byarol

b. 5B 3035 BHME0s BsBMEO JsdZOL
C. bsBMo dsd3s BHMeos boyeol

d. g5B®o dod3zs FgE0s bobuy® dsdgzoby
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50Mbogm 9OHmO:

a.j=‘v_1
. J =—=v -1
c.j:_leﬂ
d. J =+1


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=j%3D%5Csqrt%7B-1%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=j%3D-%5Csqrt%7B-1%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=j%3D-1e%5E0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=j%3D%2B1

